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3 TYPES OF ATOMS

I. NORMAL ATOMS

A. Subatomic Particles

1. Protons

2. Neutrons

3. Electrons

B. Counting Protons, Neutrons, and Electrons

1. Protons = 

2. Neutrons = 

3. Electrons = 

C. Neutrality of the Atom

1. Neutral because:


D. Examples:

II. IONS

:
An ion is similar to a normal atom except that it has a charge.  Having a charge means that it has more or less electrons than the number of protons.  PROTONS NEVER CHANGE.

A. Subatomic Particles

1. Protons

2. Neutrons

3. Electrons

B. Counting Protons, Neutrons, and Electrons

1. Protons = 

2. Neutrons = 

3. Electrons = 

C. Neutrality of the Atom

1. The ion has a POSITIVE or NEGATIVE charge because:

D. Examples:

III. ISOTOPES

:
An isotope is similar to a normal atom except that it has a larger or smaller mass than a normal atom.  Having a different mass means that the number of NEUTRONS is different as well.

A. Subatomic Particles

1. Protons

2. Neutrons

3. Electrons

B. Counting Protons, Neutrons, and Electrons

1. Protons = 

2. Neutrons = 

3. Electrons = 

C. Neutrality of the Atom

1. The atom is neutral because:

D. Examples:

